ASSEMBLY INSTRUCTIONS

IMPORTANT

Please follow the instruction manuals and use a pad to protect

the product during your assembly.

ASSEMBLY INSTRUCTIONS

1. Should be assembled on flat ground to keep balance.

Note:

Storage Platform Bed
Assembly Instructions

Dear Customers,

Q
S
©
(V)]
>
-}
O
©
Q
| -
O
=
| -
(@]
(o]
>
o)
=
Q
(V)]
(V5]
©
S
()]
r
()]
0
©
C
©
| -
v
(V5]
©
()]
S
(@]
L

required.

1/23

Thank you for purchasing our product. Please read thisinstruction manual

carefully afterreceiving this product. It will help you assemble this product

quickly, safely and correctly. You can keep this manual for future reference.

MADE IN CHINA



ASSEMBLY INSTRUCTIONS

The box 1

ASSEMBLY INSTRUCTIONS

2PCS

1PC

1PC

10PCS

1PC

PC

PC

1PC

4PCS

1PC

1PC

Th A %

3/23

2/23



ASSEMBLY INSTRUCTIONS

The box 2 continued

ASSEMBLY INSTRUCTIONS

The box 2 continued

(3] al
Nut——
1PC al 1PC
(10
2PC 4PCS 8PCS
D ® (16
-
4PCS 2PCS 1PC
® (20
1PC 1PC 1PC
D 122 (23 /
. / ) / -
(26 (27] : [ 28) N
1PC 1PC 1PC
[ 29) ] (30 It @ N
L 1PC ] 1PC ] 1PC

4/23

6PCS 2PCS
[ 37) ™
1PC 1PC
S (42,
Q
1PC 1PC 24PCS
’((J
1PC M8x30 8PCS 24PCS
<>
N
4PCS 8PCS 4PCS
ST4.2x12 M8x12
ST8.2x12 H9pcs X 18PCS g 46PCS
M8x14 M8x2
Colored Zinc 4PCS M8x18 16PCS Colo?e)(d ginc 8PCS

5/23



ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS -
The box 2 continued Do not obstruct the installation holes
on both ends of the light strip,

otherwise it will affect subsequent
assembly

G L H o

Accessory N is not lock
tight at first

4PCS M5x25 12PCS

58PCS

5PCS

1PC 1PC

M8

1PC 1PC

6/23

7/23



ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

2 p15x12

in the same position

ote that the slots are

9/23

8/23



ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

ATTENTION: There are screw

holes on 13 and 14 (as shown on the graph).

11/23

10/23



ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

M5X25

13/23

12/23



ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

15/23

14/23



ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

‘2 Xn._

@\

S\

A

S \

¥
2
o
c o
S.m.w.
Ima.m
O < ©
25 5°9

NC

¥ o 29
< g &~
>
= o @3
oD o0 =
E X ©
3 = B
= o Q2

17/23

16/23



ASSEMBLY INSTRUCTIONS ASSEMBLY INSTRUCTIONS

/
/
// |
=
N\
@') 3
E 4PCS G| mexa0 [*7°°
_ mexts [°] )

.
N
N
N
>
(o))

Om
M8x18 | >

4PCS




ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Colored Zinc——| D M%'M 4PCS

2pcs

D
ST4. 2x12

21/23

20/23



ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

16PCS

O mdio

Woriv: =
/) NLLNTF

Installation Complete

- e e e o e e e o e e o e o e o e e e e = = -

-

Gently lift the drawer, align

the screw with the gourd-shaped

hole,and then snap it in

23/23

22/23



